i H AN K4 gL k2 LR ik

100m 4 nr—2 | EH OEEQ) 3 10.98 +0.1
WA ATEQ) 11.00 +1.2
FHROK—©2) 11.05 +1.7
HE KO 11 11.12 +1.2
HA WG 12 11.15 +1.7
A &) 17 11.27 +0.1
JH  FHAHR(2) 18 11.27 +1.1
M E(2) 21 11.29 +1.1
BT YN 24 11.33 +0.1
EH B 25 11.35 -0.1
KB AHEQ2) 29 11.37 +0.5
HH O ERQ) 33 11.39 +0.1
gk EAEQ) 34 11.40 -0.1
/NP (L) 35 11.40 -0.1
g &R 45 11.47 +1.9
Wil s 50 11.50 -0.1
IR Hik() 52 11.51 +0.5
HEF 3EoR(3) 57 11.53 +0.5
ReEfy ook 65 11.55 +0.5
AR BEYR(1) 70 11.57 -0.3
IS I-= () 72 11.58 -0.6
R BEYRER(1) 83 11.60 +1.0
I 3511 (0) 86 11.61 +0.5
el FEAG) 97 11.66 +0.6
fEh ) 98 11.67 +0.1
S #EB) 109 11.73 +1.9
VERT fERE(3) 118 11.80 +0.1
S 6)) 119 11.80 +0.0
ST NI 1 6)) 156 12.07 +0.1

400m 2 A nL—A | BIEEOCER(3) 4 50.69
(M "FNG)) 7 51.12
FEH EAR) 12 51.78
A& 18 52.72
A MEE(D) 20 52.83




i H VAN K4 gL Bk LR ik
400m Z N UNC) 24 52.96
HH KE(Q2) 34 54.22
B rh(2) 38 54.61
800m SAnv—2 | HIE KK 8 2:00.26
JNi - (D) 10 2:01.43
e Z(1) 35 2:09.61
3000m FA nL—2 | N [EH(3) 1 8:34.97
kS EERG3) 2 8:40.44
HR ZomE(1) 10 8:49.16
HE —%&Q) 11 8:51.67
KA K1) 12 8:51.87
¥ Q) 13 8:52.31
o K 17 8:57.42
SN O] 20 8:59.15
M HERE) 24 9:04.71
FRE  EE3) 28 9:10.85
i AR 29 9:10.90
A B (2) 31 9:14.91
ShEF UHE(L) 33 9:18.41
/MR HE (1) 34 9:18.68
B KEQ) 36 9:20.41
ek ERB) 40 9:24.59
2 E=e)) 41 9:25.02
HAK BERHB) 44 9:26.52
I E(2) 47 9:29.21
Jes Q) 48 9:30.03
T HEE(3) 56 9:33.65
W PERI2) 58 9:36.44
RS IER(1) 59 9:36.64
BRI HRIE () 62 9:41.45
1IN SN 65 9:45.08
AT HERL(D) 68 9:50.43
PN 0D 69 9:50.75
M FEE() 71 9:54.36




i H VAN K4 gL Bk LR ik
3000m HEA KA (2) 72 10:02.91
B 0 73 10:04.18
A0 s 81 10:10.58
A EERQ) 105 10:41.40
110mH ZA4LL—2 | A FE(3) 1 15.15 +0.6
Hrl BoR(1) 2 16.01 +0.6
400mH SA4nr—2 | fEE WH(2) 2 57.90
e NP NE)) 3 57.94
o OKH@©) 4 58.29
HAK #ER1) 7 59.58
ANEBE R SR v () 4 6m29 -1.2
— Bk N7 ot HERE) 6 12m97 +1.7
/MR BESLEB) 8 12m70 +0.4
UK NI R OHEQ) 6 40m72
LI 526 (2) 9 34m43
W R 11 33m51
Az 24 14 28m95
e AT 16 27mb5
REEEEe NI B R 7 28m17
e AHE©2) 9 26m38
L TR LIl 524 (2) 1 12m14
A OHEEQ) 2 11m82
AZE 2R 5 9m65
i H VAN K4 [[=¥a Gk LR e
100m A nL—2 | R EEQ2) 2 12.61 +0.2
AH  HJTH2) 12.64 +0.6
R HEKQ) 4 12.78 +0.2
Re #HEQ) 12 13.06 -0.4
gt Q) 16 13.21 +0.6
JREF  JEE(2) 18 13.23 +0.2
A Al (1) 21 13.30 +0.2
S5 &> A2 70>(1) 22 13.34 -0.4
/NS % 2(1) 23 13.35 -1.8
il P& Q) 32 13.66 -0.4




fEH AN K4 [[=¥ia Gk LR e
400m = v HETH(2) 1 59.44
ZiE FRE) 2 1:00.82
dA B (2) 5 1:01.22
Al HRE(2) 9 1:02.98
400mH RS BIR WREE(3) 1 1:08.37
ML B @) 3 1:13.32
ANEBE Rigt fAHE EEF3) 4m35 -0.6
— Bk N K EOZ27=(1) 2 10m58 +0.7
fi L NI i 5 2 i AL(2) 1 11m89
FE 2R Q 2 11m52
RS PN i 5 2 i AL(2) 2 35m38
SSlUE's PN FIHE< 5B) 1 34m57
BB & Q) 2 33m15
AIE ER(3) 4 29m58




